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1. SO AR 0T TEq R Sfrear/Teg faar :  1x8=8

Choose the correct answer/ Answer the
following questions :

(a) SRS TRl IR R g@ 2
What do you mean by scarcity in
economics?

(b) =i R @ @R GO o
The slope of a perfectly elastic supply
curve is

() SIPRE

horizontal



(2)

() SRS
vertical
(i) SR
upward
(iv) ST GB8 TH
None of the above
(c) Faers ey A afewmm TW
@o[ae &I | ,
(TP [ R /&)
Indifference curve analysis is based on
' marginal rate of substitution.
( diminishing / increasing / constant )

(d) SoereR AR wl Bt

Give the meaning of consumer surplus.

() 2T W IR TE T R TR (= TN S
oG I AT

Marginal cost curve mtersects average
cost curve, when average cost curve is

() SR
upward sloping
@) =
downward sloping
(iii) - N =
minimum
(iv) &=
maximum
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(3)

(N 93 fePT =S s 23, @fem

Profit for a firm is maximum, when
) MR > MC |

(i) MR < MC

(iii) MR = MC

(iv) MR=MC =0

(g) CafR TeRT 79 ZFT =W, WAk G

When the wage rate decreases, the
supply of labour.

(S C R
increases
(i) 21 ="
decreases
(iii) &< e
remains constant .
(iv) S°"F qbre 7=

None of the above

(h) AfScieRER IwT &2

What is competitive market?
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(4)

2. R R e o eome vy R Bt (2R
150 *R*R fSowo) . 4x4=16

Write short notes on any four of the following
(within 150 words each) :

(@) T I/H

Free market

(b) TorereR AR

Consumer’s surplus

(c) TS Iy o1y
Consumer’s optimum choice

(d) TR IR

Short-run cost

(e) AT 2 TeommmSersr
Marginal Productivity of labour

WWWW(MSOOWF@G): ,
Anslx:)rer the following Questions (within 500 words
each) :

3. (@) mﬂsmﬁmmﬁwwgmw. 11

Explain the Subject-

matter of micro- -
€conomics,
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(S

9241/ Or

(b) ETS FEIIET oIS B IB© 4 « 5+6=11
Write notes on the following :
(i) eSSl EF =T
Scarcity and choice
(i) AT =Ry RMABPIR

Features of economic models

4. (a) TER CROHOR €[S B SF @A ARG
¥oR TR fouq SRS It F 1 11
Explain with the help of suitable
diagrams the impact of change in
demand and supply on market

equilibrium.
W/‘Or
(b) e AR Frw & W2 S RS
YIRNCH! Toe foam srpwe M1 3441 | 2+9=11

What do you mean by producer’s
surplus? Explain the concept of
producer’s surplus with the help of
suitable diagram.

5. (a) Pers @R TS Terere IR RM
F}]_W 11
Explain consumer’s equilibrium with the
help of indifference curve.
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(b)

6. (a)

(b)

7. ()

(6)

- R/ Or

Cort I TS WeE o B g 11

Explain' the choice between leisure and
consumption with the help of diagram.

o5 R o i A RS = e 76 302
AT Beoamw T AR RF wmg W &

wRErece, 7 Seoime afSd G T ST
#r® I ? 2+10=12

What do you mean by average revenue
and marginal revenue? Why does a firm
attain equilibrium when its marginal
cost equals the marginal revenue?

w{I/ Or
‘REFRT oS I @O @IOE TIIAT
51T I (I SR T 1°7 T < | 12
“Long-run average cost curve is the

envelope of various short-run average
cost curves.” Explain.

T oS wRm fpo e AT
TeomRIeTe! 41! e TS 36 I | pa9-11
What is the demand for input? Expl*?‘-“"1 '

the concept of marginal productivity of
labour with the help of diagram.
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(7)

%37/ Or

(b) T B RIS TP IRYIR 2B
QYT SIRRAT (RN W 901 : 11
Derivé the demand curve of a firm for
one variable input. -

* kK
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